1103.

OBO3HAYERME

OMMCAHNE

K-BO

/ 4 73657.00.01 [lauda cmonopHas 4
2 4 73657.00.02 lpuxum PAX 1
3 4 73657.00.03 [on06a PAX 1
4 47365T.00.04 ks |
5 47365T.00.05 jrom0a |
6 47365T.00.06 Bmynka nomumud |-
YyepHbIU
7 47365T.00.07 Cmonoptoe |,
KO/IbY O
8 4 73657.00.08 Bmyska 7
9 4 73657.01.00 [lneyo 3
10 4 7365T7.03.00 Ys3en HaksoHa 7
11 4 7365T7.04.00 [lneyo 7
12 4 7365TCmeHa.01.00 Ocb ocHoBaHus 7
13 4 7365TCmeHa.02.00 KpoHwmeuH 2
14 boam ¢ kBadpamHeiM nodzosnobHukom M6X55 y
DIN 603
5 Uauda D 10 /lamyHs DIN 125 /lamyHe 8
16 Wadada D 6 IOCT 11371 ou. (DIN 125) 1
17 Buxm ycmarob ¢ BHymp wecm M5 x 6 DIN p
913
18 | [lauxka camokoHmpsawas M10 DIN 985 oy. eauka M8 kanp | 4
19 [auka camokoHmpswas Mé DIN 985 ou. 1
20 Bunm M5 x 12 noayyun. DIN 7985 ou. 1
21 BuHm M4 x 6 noayyuas. DIN 7985 ou. 6
22 BuxHm M4 x 12 nomau. DIN 965 ou. 4
23 Uauda D 6 yben. /lamyHns DIN 9021 /lamyHe 2
25 Uauda 3ydyamas DIN 6796-A8.4 2
26 Buxm ¢ BHymp. wecm. M6 x 16 [OCT 11738 2

(DIN 912)




